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[Practice It 1.4 - 23]
What is the output of the following code?
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==================== Answers ==================== 
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2 public class Strange {

3

40 public static void main(String[] args) {

5 first();

6 third();

7 second();

8 third();

9 }

10

11 public static void first() {

12 System.out.println("Inside first method.");
13 }

14

15e public static void second() {

16 System.out.println("Inside second method.");
17 first();

18 }

19

200 public static void third() {

21 System.out.println("Inside third method.");
22 first();

23 second();

24 }

25 |
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<terminated> Strange (1) [Java Application] /Users/r
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